U % (EERED

£ 92 @ No. 1/ 4

FAREEGREES (i) 2023512150
* FER w ABREUHER " %

¥ 5 18, 000 36x 5

1 44 158, 400 36x 44

2 96 345, 600 36x 96

3 210 756, 000 36x210

4 155 558, 000 36x155

5 153 550, 800 36x153

6 3 10, 800 36x 3

21 5 18, 000 36x 5

%2 25 90, 000 36x 25

# 3 40 144, 000 36x 40

Z 4 121 435, 600 36x121

#Z 5 303 | 1,080,800 36x303

Z 6 317 1,141,200 36x317

= 20 12,000 36x 20

E 5 4 14, 400 36x 4

RARGEXGREGESS
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FAINAERGRES (iE) 2023512 A15H
= R % ABRUEH W=

E 1 23 82, 800 36x 23

B 2 3 10, 800 36x 3

E 3 23 82, 800 36x 23

E 4 42 151, 200 36x 42

E 5 21 75, 600 36x 21

E 6 16 57, 600 36x 16

FE2 3 10, 800 36x 3

FES3 Y 25, 200 36x 7

FTE4 20 72, 000 36x 20

FES 142 511, 200 36x142

FE6 222 199, 200 36x222

FE7 13 46, 800 36x 13

FED 4 14, 400 36x 4

EE6 3 10, 800 36x 3

2% 2 Jj 25, 200 36x 7
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ANEXBRES (hiE) 20234128150
% ® o G AMEBUEHR =

% 3 9 32, 400 36x 9

2 4 24 86, 400 36x 24

% 5 3 10, 800 36x 3

2% 6 3 10, 800 36x 3

% 7 20 72, 000 36x 20

=HF 15 54, 000 36x 15

=1 3 10, 800 36x 3

B2 9 32, 400 36x 9

=3 10 36, 000 36x 10

=4 11 39, 600 36x 11

%5 14 50, 400 36x 14

A 4 9 32, 400 36x 9

B 1 11 39, 600 36x 11

B 2 4 14, 400 36x 4

B 3 4 14, 400 36x 4
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FANBREBREES (i) 2023512 15H
% & o B % ARRUE % # =
B 4 ] 25, 200 36x 7
B 5 14 50, 400 36x 14
B 6 23 82, 800 36x 23
B 7 14 50, 400 36x 14
CES o 18, 000 36x 5
e 3 1 3, 600 36x 1
e 4 4 14, 400 36x 4
e 5 5 18, 000 36x 5
e 6 18 64, 800 36x 18
3 2 7,200 36x 2
5 2 1, 200 36x 2
6 ] 25, 200 36x 7

= 2,301 | 8,283,600 X7 (2, 301)
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